



$$-17(2) - 6$$

$$-34 - 6 = y$$

$$-7x - 3$$

$$-17x - 6$$

$$-17x - 6$$

$$-17x - 6$$

$$-17x - 6$$

Example:  
The polynomial  $x^4 - ax^3 - 7x^2 + bx + 24$  has two factors  $(x+3)$  and  $(x-3)$  and the values of  $a$  and  $b$ .  $P(-1) = 0$   
This can be done on the CAS!!!  

$$\left. \begin{aligned} (-1)^4 - a(-1)^3 - 7(-1)^2 + b(-1) + 24 &= 0 \\ (3)^4 - a(3)^3 - 7(3)^2 + 3b + 24 &= 0 \end{aligned} \right\} \text{Simplify} \rightarrow \text{CAS} \rightarrow \text{solve!}$$

#### Sums and Differences of Cubes

It's really important what you make a note of the following.

Memorise them.

$$\begin{aligned} x^3 - a^3 &= (x - a)(x^2 + ax + a^2) \\ x^3 + a^3 &= (x + a)(x^2 - ax + a^2) \end{aligned}$$

$a^3 - b^3 = (a+b)(a-b)$

#### Solving Polynomial Equations

In exactly the same way as you do for solving quadratics, you solve a polynomial by putting it equal to zero.

This is, in effect, finding the  $x$ -axis intercepts.

Like the quadratic factorisation, the NULL FACTOR LAW, still works.

$$( \quad ) ( \quad ) ( \quad ) = 0$$

#### The Rational Root Theorem

This has to be the most long winded, convoluted way of doing anything in Mathematics. It is more a process than a good way of doing it!

I've not yet seen this on an exam, but that isn't to say that it won't happen.

Example:  
Use the rational root theorem to help factorise  $P(x) = 3x^3 + 8x^2 + 2x - 6$

Factor

$$\begin{array}{l} +1 \rightarrow \\ -1 \rightarrow \\ +\frac{1}{3} \rightarrow \\ -\frac{1}{3} \rightarrow \end{array} \begin{array}{l} \boxed{18} \\ \boxed{1} \\ \boxed{0} \end{array}$$

$\frac{+1}{-1} > \frac{+1}{-3} > \frac{+5}{-1} > \frac{+5}{-3}$   
 $\frac{+1}{-1} > \frac{+1}{-3} > \frac{+5}{-1} > \frac{+5}{-3}$   
 $\frac{+1}{-1} > \frac{+1}{-3} > \frac{+5}{-1} > \frac{+5}{-3}$

$+5 \rightarrow$   
 $-5 \rightarrow$   
 $+\frac{5}{3} \rightarrow$   
 $-\frac{5}{3} \rightarrow$

Sign decision



